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 a¹yyn (nOp(tai[ :- 1. niN&>,  l>bie  an[  a>tr  aiFi(rt  ki[yDi  bniv[  an[  t[ni[  m*LB*t  p\(k\yiai[  oiri  uk[l    

                                  m[Lv[  C[.  

p\Ån- 1. n)c[  aip[li  p\Åni[ni  jvib  miT[  yi[³y  (vkÃp  ps>d  kri[. 

 {1}  n)c[  K*b  j*ni  (c#ii[  aip[li  C[. t[mi>Y)  si]Y)  j&n&>  (c#i  ky&>  C[ ?.................................... 

            {a}   4000  vP<   {b}  4500 vP<    {k}  3500  vP<   {D}   4200  vP< 

 {2} a[k  bsmi>  50  biLki[  smiy  ti[  4  bsmi>  k[Tli  biLki[  smie  Sk[  ?............................ 

            {a}  200 biLki[   {b}   220  biLki[  {k}   208  biLki[   {D}  198  biLki[ 

 {3}  n)c[nimi>Y)  ke  ji[D)ni[  srviLi[  krti>  400  Y)  vF&  jvib  mL[ ?................. 

            {a}   154  an[  142  {b}   200  an[  196  {k}   304  an[  99  {D}   192  an[  186 

 {4}  100  an[  150  n)  bri[br  vµc[  ke  s>²yi  aiv[ ?........................... 

            {a}   125   {b}   120   {k}   130   {D}  124 

 {5}  kijl[  t[ni  cir  (m#ii[n[  b[-b[ ci[kl[T  aip). kijl  pis[  #iN  ci[kl[T  vF)  ti[  kijl  pis[  k[Tl)   

        cikl[T ht) ?..... 

            {a}   8    {b}   11   {k}   12   {D}   10 

p\Ån-2. a[k  SiLini  biLki[  bsmi>  vDi[dri  Y)  sip&tiri  p\vis[  jvi  n)kÇyi.  t[n)  (vgt  n)c[  m&jb  C[.  

           t[ni  aiFir[  aip[li  p\Åni[ni  jvib  aipi[. 

 {1}  k[Tli  biLki[  p\vis[  jiy  C[ ?.............................. 

 {2}  ji[  biLki[n[  52  s)T viL)  bsmi>  b[siDvimi>  aiv[  ti[  k[Tli    

       biLki[n[  b[svin)  s)T  mL[ ?  k[Tli  biLki[  s)T  vgrni  rh[S[ ?  

 

 

 {3}  ji[  bs  kyi>y  ri[kiy  nh)  ti[  vDi[dri  Y)  sip&tiri  jti>  6  klik  lig[  C[. vDi[driY)   sip&tiri     

        lgBg  290  (km)  C[. aRyir[  svirni  8  vi³yi  hi[y ti[  sip&tiri  ±yir[  phi[>ciy ?......................... 

             {a}  11  vi³y[   {b}   bpi[rni  1  vi³y[   {k}   bpi[rni  2  vi³y[   {D}   bpi[rni   12  vi³y[ 

{4}  rAtimi>  psir  Yti>  tip)  nd)  aiv[  C[. tip)  nd)  pr  545 m)Tr  li>bi[  p&l  C[  ti[  tip)  nd)n)   

       phi[Lie  k[Tl)  hS[ ?  .....................................  

 {5}  p&l  545  m)Tr  li>bi[  C[. ji[  bs  5  m)Tr  li>b)  hi[y  ti[  ai  p&l  pr  a[kn)  piCL  a[k  a[v)     

       k[Tl)  bsi[  UB)  rh[  ?    

 

Fi[rN (vwiY)<ai[n)  s>²yi 

1 30 

2 43 

3 35 

4 55 

5 52 

k&l  

(vPy - g(Nt    3. Bi[pilni[  p\vis 
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{6} nd)n)  piN)n)  spiT)  p&lY)  42  m)Tr  n)c)  C[.  pr>t&  ci[misin)  ät&mi>  piN)n)  spiT)  18 m)Tr   

      j  n)c)  hi[y  C[. ti[  b>n[  vKtn)  spiT)  vµc[ni[  tfivt  k[Tli[  Yiy ?......................... 

 

 {7} vDi[driY)  sip&tirini  rAtimi>  niAti[  krvi>  miT[  bs  UB)  riK),  dr[k  biLkn[  1  sfrjn, 2  k[Li>   

      an[  4  (bIAkT  ai¼yi.  t[mi>Y)  35  biLki[a[  k[Li>  l)Fi  n(h, ti[  k&l  k[Tl)  vAt&ai[  k[Tli>  biLki[n[   

      vh[>cvimi>  aiv)  ?     

  

 

 

 

{8} bsmi>  D)zl  p&rivvi  p[T^i[lp>p[  uB)  rKie. ji[  a[k  bsmi>  D)zl  Brti  6  (m(nT  lig[  ti[  p  bsmi>     

     D)zl  Brti>  k[Tli[  smy  lig[?.............................. 

{9} ji[  D)zlni[  Biv  $.  70  p\(t (lTr   hi[y  ti[  a[k  bsmi>   50  (lTr  D)zl  Brivti>  k[Tli  $(pyi   

     c*kvvi  pD[ ? 

       

 

{10} si>j[  7  vi³y[  bFi>  vDi[dri  jvi  piCi  fyi<. ji[  bs  ri[kiyi  vgr  aigL  vF[,  ti[  bs  k[Tli  vi³y[   

       vDi[dri  phi[>cS[ ? { vDi[driY)  sip&tiri  jvimi>  6  klik  lig[  C[ } ............................................ 

           {a}    rit[  11  vi³y[    {b}   rit[  12  vi³y[   {k}   rit[   1  vi³y[   {D}  rit[  2  vi³y[  

{11}  ji[ ai  p\visni[  a[k  bsni  biLki[ni[  Kc<  10000  $(pyi  hi[y  an[  bsmi>  50  biLki[  hi[y  ti[     

        a[k  biLkni  Big[  k[Tli  $(pyi  c*kvvini  Yiy ?........................................ 

p\Ån-3.  sip&tiri   sri[vrmi>   bi[T)>g  krvin&>  Bivp#ik  n)c[ni  p\Åni[ni  jvib  aipi[.   

{1}  b[  biLki[  Dbl  D[kr  bi[Tmi>  gyi.  ti[  t[mN[  k[Tli  $(pyi    

       c*kÄyi> ?......................................................................................... 

{2}  ke  bi[T  a[k  klikmi>  b[  cÊr  mir[  C[ ?................................... 

{3}  ke  bi[Tmi>  si]Y)  ai[Ci  Kc<mi>  si]Y)  vFir[  smy  mL[  C[ ?..... 

{4}  biLki[n&>  a[k  j*Y  hl[siviL)  bi[Tmi>  gy&>. ti[  t[mN[  120  $(pyi  

c*kÄyi,  ti[  bi[Tmi>  k[Tli  biLki[  gyi  hS[ ?.......................................... 

{5} a[k  Ci[kria[  b[  bi[T  k&l 50  (m(nT  cliv)  an[  k&l  $(pyi  50  ai¼yi, ti[  t[N[  ke  b[  bi[T  cliv)  hS[ ? 

bi[T 

T)k)T  p\(t  

Äy(±t 

smy 

 Dbl  D[kr $. 40 40 (m(nT 

p[Dl bi[T $. 20 30 (m(nT 

mi[Tr bi[T $. 30 20 (m(nT 

hl[si>  viL) $. 15 50 (m(nT 


